
SAP EDUCATION 

SAMPLE QUESTIONS: C_HANATEC_1 

SAP Certified Technology Associate – SAP HANA 1.0  

Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on the actual certification exams. 
Answering the sample questions correctly is no guarantee that you will pass the certification exam. The certification exam covers a 
much broader spectrum of topics, so do make sure you have familiarized yourself with all topics listed in the exam competency areas 
before taking the certification exam.  

Questions 

 
1. Which of the following components need a server certificate when you configure the SAP HANA 
Automated Update function?  
 
Note: There are 2 correct answers to this question.  
   

a)  O  Host agent 

b)  O  SAP HANA studio 

c)  O  SAP HANA database 

d) O Update Manager 

 
 
 

2. To ensure the supportability of SAP HANA, who must install the SAP HANA database on the SAP 
HANA appliance hardware?  
 
Please choose the correct answer.   
 

a)  O  A certified Sybase IQ Administrator Professional 

b)  O  A certified SAP HANA Technical Consultant 

c)  O  An SAP HANA consultant employed by SAP AG or its 
subsidiaries only 

d)  O  An SAP HANA technician authorized by the hardware vendor 
delivering the appliance only 

 
 
 
 
 
 
 
 
 
 



3. Which connectivity options can you use to create an SAP BusinessObjects universe on SAP HANA?  
 
Note: There are 2 correct answers to this question.  
 

a)  O  Relational connection using ODBC 

b)  O  Relational connection using BICS 

c)  O  Relational connection using JDBC 

d)  O  Relational connection using MDX 

 

4. Which of the following are valid assignment sequences (assigning from the left to the right) of 
authorizations? 
 
Note: There are 2 correct answers to this question.  
    

a)  O  Role → Privilege → User 

b)  O  Role → User → Privilege 

c)  O  Role → Role → User 

d)  O  Privilege → Role → User 

 
5. Which of the following privileges are mandatory for the initial user to configure SAP LT to populate the 
SAP HANA database?  
 
Note: There are 2 correct answers to this question.  
 

a)  O  SELECT on SYS_REPL.RS_REPLICATION_COMPONENTS with 
grant option 

b)  O  CREATE ANY in _SYS_BIC schema 

c)  O  EXECUTE of REPOSITORY_REST(SYS) 

d)  O  ROLE_ADMIN 

 

6. Which of the following are benefits of implementing SAP HANA?  
 
Note: There are 3 correct answers to this question. 
 

a)  O  SAP HANA provides real-time analytics 

b)  O  SAP HANA performs much faster than the standard SAP ERP 

c)  O  SAP HANA replaces SAP BW 

d)  O  SAP HANA provides pre-configured BI Content 

e) O SAP HANA combines OLTP and OLAP in one system 



An organization has the following infrastructure standard: 

 Separate Server and User network managed by the internal network team 
 Centralized shared storage (SAN) with RAID-5 
 In-house full time SAP Basis, DBA, and OS team 
 Unified on Red Hat Linux on Intel platform 
 All Windows 7 desktop/laptop 
 VPN remote access 
 Tape based off-site backup storage and active-passive remote site Disaster Recovery 

7. Which of the following aspects of the IT infrastructure strategy will need to be reconsidered if they are 
to implement SAP HANA?  
 
Note: There are 3 correct answers to this question.  
 

a)  O  Data Volume growth 

b)  O  Backup and recovery 

c)  O  Client Access to data 

d)  O  Network security and bandwidth 

e)  O  Hardware/OS support 

8. Which tab in SAP HANA studio displays CPU load history data?  

Please choose the correct answer.   

a)  O  Overview 

b)  O  Volumes 

c)  O  Landscape 

d)  O  Performance 

 
 
 
 
 
 
 
 
 
 
 
 
 



9. Which feature is supported by the backup and recovery process within the standard delivery of SAP 
HANA?  
 
Please choose the correct answer.    
 

a)  O  Incremental backup 

b)  O  Information model recovery 

c)  O  Automatic backup of archiving log files scheduled within SAP 
HANA 

d)  O Point-in-time recovery 

 
10. You develop a disaster recovery plan. What do you have to ensure in case of a disk failure?  
 
Note: There are 3 correct answers to this question.    
 

a)  O  Log volumes can be backed up 

b)  O  Non-committed transactions can be recovered 

c)  O  Configuration files can be restored automatically 

d)  O Committed transactions can be recovered 

e)  O Save points can be backed up 

 

Solutions 

1 a) Correct  2 a) Incorrect  3 a) Correct  4 a) Incorrect  5 a) Correct  

1 b) Incorrect  2 b) Incorrect  3 b) Incorrect  4 b) Incorrect  5 b) Incorrect  

1 c) Incorrect  2 c) Incorrect  3 c) Correct  4 c) Correct  5 c) Incorrect  

1 d) Correct  2 d) Correct  3 d) Incorrect  4 d) Correct  5 d) Correct  

         

6 a) Correct  7 a) Incorrect  8 a) Incorrect  9 a) Incorrect  10 a) Correct  

6 b) Correct  7 b) Correct  8 b) Incorrect  9 b) Incorrect  10 b) Incorrect  

6 c) Incorrect  7 c) Incorrect  8 c) Incorrect  9 c) Incorrect  10 c) Incorrect 

6 d) Incorrect  7 d) Correct  8 d) Correct  9 d) Correct  10 d) Correct 

6 e) Correct 7 e) Correct    10 e) Correct 

 

Want to learn more? Contact SAP for more information.
 

 

http://www.sap.com/contactsap/

